C:# Addition Using Open Number Lines Name:
Solve each problem. Answers

1) 40,468 + 35,564 =

< ® @ @ ® @ ® > 2
2) 49,305 + 14,050 = 3
4,

< @ @ @ @ >

3) 39,551 + 25,780 =

« e ° ° ° o .
4) 23,301 +9,923= 8.
« o ° ° ° e

5 18,988 + 12,617 =

< ® @ L ® L *—)>

6) 36,145 + 25,390 =

< ® @ ® @ ® >

7) 78,222 + 21,548 =

< ® @ L ® L *—)>

8) 81,729 + 5,547 =

< ® @ ® @ ® >
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ﬂh Addition Using Open Number Lines Name: Answer Key

Solve each problem. Answers
1) 40,468 + =
0,468 + 35,564 . 76032
40,468 70,468 75468 75968 76,028 76,032
< < 2 63,355
+30,000 +5,000  +500 +60 +4
2) 49,305 + 14,050 = s 65331
49,305 59,305 63,305 63,355 s 33,224
< >
+10,000 +4,000 +50 5. 31,605
3) 39,551 + 25,780 =
6. 61,535
39,551 59,551 64,551 65,251 65,331
< > 7 99,770
+20,000 +5,000 +700 +80
4) 23,301+ 9,923= s. 81,276
23,301 32,301 33,201 33,221 33,224
< e — 6 — e 0 <
+9,000 +900 +20 +3
5 18,988 + 12,617 =
18,988 28,988 30,988 31,588 31,598 31,605
< >
+10,000 +2,000  +600 +10 +7
6) 36,145 + 25,390 =
36,145 56,145 61,145 61,445 61,535
< >
+20,000 +5,000 +300 +90
7) 78,222 + 21,548 =
78222 98,222 99222 99,722 99,762 99,770
< >
+20,000 +1,000  +500 +40 +8
8) 81,729 + 5,547 =
81,729 86,729 87,229 87,269 87,276
< & e — e — 6 — 9 >
+5,000 +500 +40 +7
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